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One may have thought that retroactively it is revealed that he
indeed nullified the v3, the 71wn teaches us that there is no 52,

OVERVIEW

The X773 states that if not for the explicit 17 in the 7iwn that once the TwX
received the 03 there can be no 7v°2, we may have thought that 1°2 may be
valid retroactively, if we can interpret his previous action as an intention to
be 5van the va. MO will explain where would there have been a possibility
to perhaps assume that 210°2 may function retroactively.

There is a 1°7 that 0127 0°X 292w 027, we do not consider what a person
thought, only what he verbalized. m1501n will be discussing the ramifications
of this 1°7; when it applies and when do we say that even 717 222w 027
0°727.

modIn comments:
— N RN RV NNYT MDY (15 97 0P 9INT N2
And concerning X391 who states later in the 'x7n3 that a revelation of

intent by a w3, is significant and the "2 is valid when there is a Xny7 "12%; why
therefore in our case is the ¥191% Xn?°» *X73°R not sufficient to render it a proper 210°2?

Mmoo replies: When K27 said that X7 XN?7 R©°32 ROYT 123 -

— PPY V) WINY ONP RPIT NN
that is only when the ny7 "1°3 was made before the vs came into her
possession -

— N1 D172 IND DD YHNY NN 1Y NNYT 52 IMN ¥ XD ON DaN
However if the ny7 "Y1 was not known to either the m5w, the 7wx, or 7"2

until after the v was in her possession; that ny7 *¥>" is worthless’. There is
no 71 retroactively after receiving the va.

" The X relates a case of a person who sent a v with a m9w. When the m9w came to the woman and
informed her of his m*5w, she told him to return tomorrow. The > related this to the husband, who upon
hearing this (that the 5w did not actually deliver the v3) said '2°vnm 2107 772" There is a dispute between
X271 "X if the v3 is Pva. While »»ak maintains the v3 is not 502 since it only a XnyT 1197, and not an explicit
5173, X271 on the other hand maintains that X°7 RN?°n X33 XNyT M7 and that is sufficient to render it a
proper 212,

2 moon will explain later why it is not a valid 212 if it becomes known to us after her receipt of the va.
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Mmoo will now explain our case of ¥1912 Xn?» "12°3 (where the 2102 is not effective):
— MIVAY NYHY N VINY NMINT D
For instance the v2 was chasing after the m°>w with the intention of being
D2 the b3
— (ow) 1PV MINRTI NY 2N MUK 99915 Y27 NP9NA VINIT RNT NHY 9209
And the m®w thought that perhaps the reason the v is chasing him for
the Yva wants to tell and encourage the m>w ‘indeed give her the 3’ as the
X3 states later on that the husband’s chasing after the m%w may be interpreted to
mean that he is urging the m°9w to give the v -
— MYYYN 193 NIN PITYVY DY 29D N NaY 9NN 1D VAN ’9)
And when he subsequently is actually wa» the v (in the presence of the
mow or the 7wX) after it is in her possession for he mistakenly assumed

that it is still in the possession of the m°9w therefore he was 7021 the b3
= 0579 MN PNVITT YI91IY NNDIN INIIN

it was retroactively revealed that he was chasing the m5w with the
intention of being Ywan the vx. Seemingly it should be a proper 912 (especially
according to X217 who maintains X°77 XN?°2 X032 XNV 17°), nevertheless —

— NI ©Y99 INDT PNNN )Y YIYUN NP
The xin of the ;mwn teaches us that this 7102 is worthless. There is no 1w
and the vi she received is a proper v3.

mooIn goes on to explain why indeed do we not say *v15m% Xn?m K2R
— NNPYLVIY
And the reason for this distinction between the case of X117 where the ny7 "19° was

known before the vi reached her, and the case of the 71wn, where the ny7 »19°x was known
retroactively after the vi reached her; is —

— 197 %25 XD AYNY XD NYOYH XY INYT Y193 KD N9 NINY NYY NHINAYT DIVN
because at the time that the va was running after the v the intention
of the %¥2 to be Yvan the vx was not known neither to the m¥>w, nor to the

wife, and nor to 7''92. At the time the 212 can take effect (before it came into her
possession) none of them were positively aware of his intention to be S02n the vi. One

? The m9w obviously understands that it is equally possible that the ¥2 is chasing him to be Yv2n the ba.
* We know now that the 5v2 intended to be Yvan the v3. The m>w certainly suspected it. What is lacking in
the 71°2?! It would seem that the reason ?71°2 must be performed nwxTY m°5wn °193, is that she should not
remarry if there was a 210°2. One would assume that the %% in this case would certainly inform the woman
that the 2 may have intended to be Svan the v3. Why is there a problem that the definitive knowledge of
the 21072 reached us retroactively?
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may be %van a va only TWRM MW *192 (and 732 °192 according to 72y>72 °27). Therefore
since at the time of the 91°2 no one was aware of the 71°2 (we are only becoming aware
after the fact retroactively) —

— 09327 )97 2YaY 09327 1YY NN
And that knowledge is considered ‘matters of the heart’ which are not
considered valid statementss, since at the time of 910°2 they were not verbalized -

— %2953 1157 79 1Y JPINIY 29 Yy 9N
Even though he is believed to say this is what was in my heart when I was
chasing after the m>w; to be Svan the vi. We are not questioning the veracity of his claim

that he intended to be Yvan the 6m; rather we do not accept his intended 91°2 because at
that time it was not known to us, and it is therefore considered 272w 0°927.

moYIN questions the 1101 of 272w 0927 in our case.
= (3,0n PYUIDP) INIYI NIND PN NOYIN 12217 NIND 22) NHYYAT 2) Yy 9N)

and even though that elsewhere concerning the individual who sold land

with the intention to ascend to "R with the monies of the sale. If he were to
remain in "1 he would not have sold his property. The seller did not emigrate to *"& and
wanted to annul the sale. The law is that since he did not verbalize that he is selling with
the stipulation that the sale is conditional if he travels to *"X, therefore it is 272w 0°927 and
the sale is valid. In that case

— PIY 592 9210 DIPNOY NN NI YIS WUN XYT 112 0937 1N XYT XD 112
it is justified that his intention is irrelevant since he was not concerned to
specify this stipulation, we assume that he wants the sale to be valid in any

event, even if he will remain in 2"1; otherwise he would have been specific.
- "MWUYs 995w A1 5 AW 1N Yax

However here, why do we say that these 0727 0°X 222w 0°127 he is doing

whatever is possible to be “van the va. It should be a proper 22 (especially
according to X217 who maintains X°77 XN?° X032 RNVT M17%3).

> It would seem that X>7 XN K>3 Xny7 7273 is only when there was verbalization on part of the %va before
v NNI; not when we infer it retroactively. Then it is considered 272w 0*127.

% mooIn seems to be saying that the 117om of 292w 0127 is not because we are not sure what his intentions
are, but rather because intrinsically we cannot depend on 272w 0>127.

7 mooin is arguing that the reason 2°127 aPX 272w 2127 is not simply because he did not say them; but
rather from the fact that he did not verbalize the stipulation that proves that he really is not concerned about
it sufficiently to void the contract, etc. That is why in the 2 7p X3 we consider it 292w 2°127. However
here by the V37 72 we cannot infer from the lack of 712°7 that he does not want to be van the v3; on the
contrary we know (retroactively) that he was pursuing every means possible to be 2van the v3. In such a
case the rule that 0127 oKX 272w 0127 should not apply. Rather it should be a valid Xvxa ®Rny7 "% (which
according to X217 is X7 RN20).
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mooin replies that indeed in the case of w1 7001 it should not be considered 272w 0127
and the 91v°2 should have been a proper 210°2 —

—2YayY DY9375 DINVY DIPNI U

Nevertheless the 1127 considered this as if it were ®25aw 29137, The 07 is
not valid.

mooIN questions this last statement:

— 1) MN PAYTI V) NN RY RNNNTIT 2792 NIIN 1 MYPNY PN
and one cannot ask concerning what was said that really it is a 910°2 but the
1127 nullified the 702 and validated the ©3; can there be such a thing that
7N 32 it is not a w3, since it is a valid 702, the woman is an 72 WX WX

7707 and 333977 it is a va! How can the 7327 validate this v when Xn*>MXT» it is not
a v) and she is an X NWK?

mooin replies:

— 19NN 1 937 NVPPY XWN KY 253V 09219 11T NPV 1197
For since it is partially similar to 252w 2v927; he did not actually verbalize
the ?101 it is not considered as if the 7127 are uprooting a 770 ruling’.

— NYNY NYDY NPT XD 197 $H°32 NDY 51032 1399 13910 NI

We find an even greater novelty concerning the power of the 1127 when a

w2 is performed outside of 7''v2 without the knowledge of either the
mo5w or the WK -

— 93 M1 XYY NAYNN VYO YRYnNT

The simple understanding of the 715%7 is that in such a case it is not a valid

®IW2; even though 7707 11 it would seem that it should be a valid 910°2 regardless if no
one knew of it. The reason there is a requirement that someone know of the "1 is to
prevent the woman from remarrying. It is a 7132972 77°13. In 770 law however 2102 will
always be valid (if it is verbalized). Nevertheless we do not ask how is it that 7707 1
there is no vx because the 7102 is valid, and the 1121 validate the vx and nullify the 910°2.
This seems to be an even greater ¥17°1 than our case of 292w oa1.'0

¥ Perhaps the 1321 were concerned that if we allowed this 292w 2127, that would cause other types of ™27
293w to be acceptable as well.

? It is to be assumed that if one was Yvan the 7awmma v without verbalizing it at all, and not doing any
action which would indicate that he intends to be Svan the v, in such a case it would not be a 1’2 even n
7mnn. Therefore the 1127 are merely ignoring the indicating factors and are basing their ruling on the fact
that the 910°2 was not verbalized, which causes a 7102 to be voided 7107 12.

' In the case of 292w 027 it may be argued that 779077 72 a 292 21°2 is no 2 w*a. Therefore even though he
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mooIn reconsiders this last proof:

— RNNY DY DAN DPNY DY 1N 1T %23 NIYW DIV RNY 29 110 TP
and this requires additional thoughtful inquiry for perhaps when the 7127
say that a 12 not in the presence of a 7'"2 and neither 7wX) MW *101 is
not effective, that means to be lenient it is not a 1v°2 (we cannot say she is
not a 7Y at all; she will be 7721702 MoK if she is an 370 NwX) however the

21072 will be valid to be strict. She will be considered a (7312772) 2" 7w1N3 but
she will not be able to marry (since 707 1 it is a valid 21v°2) unless she receives a new
3. Therefore there is no proof that the 13127 can nullify a 910°2 and validate the va.

moon will now reconsider the concept of two types of 292w 0°727 (where he could or
could not have been verbal):

— 0937 DN AVAY D927 3 PNYY 13929 AN NI

And it appears furthermore to the > that the rule of 2R 2%2w 2727
Q%927 applies —

— Y9991 DINIV )P NPT NI 179N

even in a case where we are certain that he was prevented against his will

from being explicit; nevertheless it is considered 272w 0127 and is 2°727 arX. Here
too by w1 9102 even if he tried to do all he could, nevertheless it is considered 0127
2%2w. There is no difference by 252w 0°727 whether he could or could not have verbalized
his intent. In all cases it is 2°727 21K 222w 0°127.

— 0929 0N AYaY 09377 (N, 97 PWTPT’/a P92 Y9N NYIIVY M5
as the X n) attempted to prove in the second pap of Pwyt>p that 29937

22w is not considered 2127 regardless whether his not saying was d1IX2 or T1¥I2.
The &3 attempted to proves it from the 7°7 -

— 1199571 D)7 2N DY TINOY 1Y IMN 119919
that we force him until he says ‘I want’ both by v3 and by a 329p. This

was Ny7 7731 that he wants to be Pvan, nevertheless the 0on (disregard the ny7 »12°3, and) consider it as a
regular 272w 0127, where 77107 12 it is no 212, However by 121 m°hwi *192 X5w Hv°3, there 70 1 for sure
it is a proper ?10°2 and the woman is not nw M, how are the 1127 validating this v3, nullifying the 71°3, and
allowing an 7707 12 WX NWR to remarry! This proves that the 1121 have this power to void a 702,
" The w"w" amends the X073 to " 1PDIDT RN,
2 A 3 and a 1277 must be done willingly. Under certain circumstances a man must divorce his wife.
Similarly a person must sometimes bring a 127p. In either of these case, if the person refuses to write the ux
or to bring the 127p, 7"*2 will pressure the person by all means available until the person verbalizes and says
I agree to write the v willingly or to bring the 7279 voluntarily. It is obvious that the person is really not
willing to do either; he is agreeing only on account of the pressure. In his heart — 292w 0127 he refuses to
go along with the coercion. Nevertheless we dismiss the 272w 2°127 even though it is 01%2 and we only
consider his verbalization of assent.
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proves that 0°127 oPR 222w 0”27 even if he is w1991 0IX1; he is forcibly prevented from
expressing his true will"”.

mooIn concludes that we should not surmise from this that we never take into
consideration what the person’s intent is if he does not verbalize it. There is an exception
to this rule.

—INYT MY KYAYW NN NN D927 HPNY abay D937 2NN XY
and 292w 2’927 are not considered 2°927 unless in a situation that even

without his nyT 19
21NN INYT NYTY 1Y v

We can assume his intention by ourselves. If it is something which an average
person’s intent is known, even if he did not verbalize it, it is not considered 272w 2127,
and we assume that his intent is what a ‘normal’ person intends to do. For instance when
a person gifts all his properties to a stranger, and after his demise it became known that
he had a son. We void the gift to the stranger, for we assume that had he known that he
had a son he would not have gifted all his properties to a stranger.

SUMMARY

The 177 of X°77 RN RWA2 XNYT M12°) (according to X27) applies only when the
ny7 "1%°3 was known to us prior to the TwX receiving the vi. If we know (after
the WX received the v3) retroactively that the Hv2 intended to be Hvan the v,
it is considered 292w 0°7127 and there is no 2.

It is possible to assume that 2°727 1R 272w 217, only if the 2%aw 0°137
could have been verbalized. If the 272w 0°727 could not have been verbalized
on account of an 01X, then they are valid 0°727. In our case where he was
wI9Yn 0aR1 then it should not have considered 222w 0°727; nonetheless the
1127 consider it 272w 0°727, and validate the v3. This may be inferred from
the 177 that a 72 without anyone’s knowledge is void 7312777, even if it was
792, However this inference may be refuted if we were to assume that a 910°2
17192 XYW is still valid X111% but not X?7175.

One may assume however that 292w 0°727 are always 0°727 01X even when
w1591 DIXI; as is indicated by the attempted proofs that 22727 09K 252w 0227
from 771921 v). In those instances it is certainly w199 01Xl and nevertheless
we attempt to derive from them that 0°927 0°X 292w o127.

" The X3 there actually rejects this proof saying that a 981> really wants to have a 7792 and to listen to
the o1 who tell him to divorce his wife.
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The only exception to 0°127 0I°X 272w 0127 will be in a situation where his
intent is obviously known without him needing to make any indication.

THINKING IT OVER
1. According to »aR who maintains X7 X171 X7 X032 RNyT 177, how would
he explain the X" of our X3 that T would say ¥191% R0 SX9KR?

2. What would be the 77 in a case where the Yv2 ran after the 9w and he
caught up with the m%w before the vx was given to the nwX, and after
verifying that the 7wX did not receive the v3, the 72 said 2°vnm 200 7N2?

3. How can we explain the two opposing opinions of N901n whether °727
0°727 oK 272w is only when w195 wwi X7 or even when w1971 DIX1?
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